



Löse jede Aufgabe.

1) $2 \cdot 30 : (1 + 4) - 5 + 4 - 9$

2) $14 : 1 - (6 \cdot 8 - 6) \cdot 6 + 2$

3) $7 + 97 : 1 + (9 \cdot 1) \cdot 8 - 5$

4) $4 \cdot (6 \cdot 80 : 1 + 9) \cdot 6 + 6$

5) $5 - 4 \cdot 7 + (1 \cdot 80 : 5 \cdot 5)$

6) $9 \cdot 70 : 9 - 9 - (1 \cdot 1 \cdot 1)$

7) $3 - 9 \cdot (9 \cdot 5 \cdot 6) \cdot 8 + 3$

8) $8 + 1 + (6 - 92 : 2 - 9 + 4)$

9) $6 + (4 \cdot 2 + 2 \cdot 2) - 60 : 2$

10) $55 : 5 - 3 - (1 + 3) - 9 - 8$

Antworten

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____



Löse jede Aufgabe.

1) $2 \cdot 30 : (1+4) - 5 + 4 - 9$

$2 \cdot 30 : 5 - 5 + 4 - 9$

$60 : 5 - 5 + 4 - 9$

$12 - 5 + 4 - 9$

$7 + 4 - 9$

$11 - 9$

2

2) $14 : 1 - (6 \cdot 8 - 6) \cdot 6 + 2$

$14 : 1 - (48 - 6) \cdot 6 + 2$

$14 : 1 - 42 \cdot 6 + 2$

$14 - 42 \cdot 6 + 2$

$14 - 252 + 2$

$-238 + 2$

-236

3) $7 + 97 : 1 + (9 \cdot 1) \cdot 8 - 5$

$7 + 97 : 1 + 9 \cdot 8 - 5$

$7 + 97 + 9 \cdot 8 - 5$

$7 + 97 + 72 - 5$

$104 + 72 - 5$

$176 - 5$

171

4) $4 \cdot (6 \cdot 80 : 1 + 9) \cdot 6 + 6$

$4 \cdot (480 : 1 + 9) \cdot 6 + 6$

$4 \cdot (480 + 9) \cdot 6 + 6$

$4 \cdot 489 \cdot 6 + 6$

$1956 \cdot 6 + 6$

$11736 + 6$

11742

5) $5 - 4 \cdot 7 + (1 \cdot 80 : 5 \cdot 5)$

$5 - 4 \cdot 7 + (80 : 5 \cdot 5)$

$5 - 4 \cdot 7 + (16 \cdot 5)$

$5 - 4 \cdot 7 + 80$

$5 - 28 + 80$

$-23 + 80$

57

6) $9 \cdot 70 : 9 - 9 - (1 \cdot 1 \cdot 1)$

$9 \cdot 70 : 9 - 9 - (1 \cdot 1)$

$9 \cdot 70 : 9 - 9 - 1$

$630 : 9 - 9 - 1$

$70 - 9 - 1$

$61 - 1$

60

7) $3 - 9 \cdot (9 \cdot 5 \cdot 6) \cdot 8 + 3$

$3 - 9 \cdot (45 \cdot 6) \cdot 8 + 3$

$3 - 9 \cdot 270 \cdot 8 + 3$

$3 - 2430 \cdot 8 + 3$

$3 - 19440 + 3$

$-19437 + 3$

-19434

8) $8 + 1 + (6 - 92 : 2 - 9 + 4)$

$8 + 1 + (6 - 46 - 9 + 4)$

$8 + 1 + (-40 - 9 + 4)$

$8 + 1 + (-49 + 4)$

$8 + 1 + (-45)$

$8 + 1 - 45$

$9 - 45$

-36

9) $6 + (4 \cdot 2 + 2 \cdot 2) - 60 : 2$

$6 + (8 + 2 \cdot 2) - 60 : 2$

$6 + (8 + 4) - 60 : 2$

$6 + 12 - 60 : 2$

$6 + 12 - 30$

$18 - 30$

-12

10) $55 : 5 - 3 - (1 + 3) - 9 - 8$

$55 : 5 - 3 - 4 - 9 - 8$

$11 - 3 - 4 - 9 - 8$

$8 - 4 - 9 - 8$

$4 - 9 - 8$

$-5 - 8$

-13

Antworten1. 22. -2363. 1714. 11.7425. 576. 607. -19.4348. -369. -1210. -13



Löse jede Aufgabe.

Antworten

60

11.742

171

57

-36

2

-236

-19.434

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

1) $2 \cdot 30 : (1 + 4) - 5 + 4 - 9$

2) $14 : 1 - (6 \cdot 8 - 6) \cdot 6 + 2$

3) $7 + 97 : 1 + (9 \cdot 1) \cdot 8 - 5$

4) $4 \cdot (6 \cdot 80 : 1 + 9) \cdot 6 + 6$

5) $5 - 4 \cdot 7 + (1 \cdot 80 : 5 \cdot 5)$

6) $9 \cdot 70 : 9 - 9 - (1 \cdot 1 \cdot 1)$

7) $3 - 9 \cdot (9 \cdot 5 \cdot 6) \cdot 8 + 3$

8) $8 + 1 + (6 - 92 : 2 - 9 + 4)$